

## Managers' Transactions in Fiscal Year 2021

(as of October 29, 2021)

Date/Place	Name/Reasons for Disclosure	Security	ISIN	Type of Transaction	Currency/ Price	Quantity	Total Amount
August 30 2021 Over the counter market (OTC)	Indigo Wealth LLC, person closely associated to Sarena Lin, Board of Management	Bayer AG American Depositary Receipt (ADR)	CUSIP 072730302	Kauf	USD 13.86	5,000	USD 69,300.00
August 30 2021 Over the counter market (OTC)	Indigo Wealth LLC, person closely associated to Sarena Lin, Board of Management	Bayer AG American Depositary Receipt (ADR)	CUSIP 072730302	Kauf	USD 13.8799	2,500	USD 34,699.75
August 30 2021 Over the counter market (OTC)	Indigo Wealth LLC, person closely associated to Sarena Lin, Board of Management	Bayer AG American Depositary Receipt (ADR)	CUSIP 072730302	Kauf	USD 13.87	2,500	USD 34,675.00

August 30 2021 Over the counter market (OTC)	Indigo Wealth LLC, person closely associated to Sarena Lin, Board of Management	Bayer AG American Depositary Receipt (ADR)	CUSIP 072730302	Kauf	USD 13.88	5,000	USD 69,400.00
August 26, 2021 Over the counter market (OTC)	Indigo Wealth LLC, person closely associated to Sarena Lin, Board of Management	Bayer AG American Depositary Receipt (ADR)	CUSIP 072730302	Kauf	USD 13.91	2,000	USD 27.820,00
August 24, 2021 Xetra	Dr. Thomas Elsner Supervisory Board	Share	DE000BAY0017	Purchase of Bayer shares to the value of € 5,000.00 at a discount of 20% on the subscription amount. The shares will be purchased at the volume-weighted average price for Bayer shares in Xetra trading on the Frankfurt Stock Exchange on November 10, 2021. Fractions of shares will be calculated to four decimal places.	not quantifiable	not quantifiable	not quantifiable

August 6, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 47.255	54	EUR 2,551.770
August 6, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 47,225	717	EUR 33,860.325
August 6, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 47,23	918	EUR 43,357.14
August 6, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 47,245	1,541	EUR 72,804.545
August 6, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 47.24	2,004	EUR 94,668.96
August 6, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 47.25	2,042	EUR 96,484.50
August 6, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 47.235	2,724	EUR 128,668.14

August 6, 2021 Gettex	Werner Baumann Board of Management	Call Option	DE000TR76A23	Purchase	EUR 0.64	200,000	EUR 128,000
June 17, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 53.41	421	EUR 22,485.61
June 17, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 53.40	1,863	EUR 99,484.20
June 17, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 53.39	2,861	EUR 152,748.79
June 17, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 53.38	2,508	EUR 133,877.04
June 17, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 53.37	2,463	EUR 131,450.31
June 17, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 53.36	2,547	EUR 135,907.92

June 17, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 53.35	3,127	EUR 166,825.45
June 17, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 53.34	2,639	EUR 140,764.26
June 17, 2021 Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 53.33	1,571	EUR 83,781.43
March 4, 2021 Over the counter market (OTC)	Ertharin Cousin Supervisory Board	Share	CUSIP 072730302	Purchase	USD 15.50	454	USD 7,037.00
March 4, 2021 Over the counter market (OTC)	Ertharin Cousin Supervisory Board	Share	CUSIP 072730302	Purchase	USD 15.50	135	USD 2,092.50
March 1, 2021 Over the counter market (OTC)	Dr: Norbert W. Bischofberger Supervisory Board	Share	CUSIP 072730302	Purchase	USD 15.85	4,000	USD 63,400.00
March 1, 2021 Over the counter market (OTC)	Ertharin Cousin Supervisory Board	Share	CUSIP 072730302	Purchase	USD 15.825	1,965	USD 31,096.125

March 1, 2021 Over the counter market (OTC)	Colleen A. Goggins Supervisory Board	Share	CUSIP 072730302	Purchase	USD 15.78	3,500	USD 55,230.00
March 1, 2021 Xetra	Horst Baier Supervisory Board	Share	DE000BAY0017	Purchase	EUR 51.5092	1,941	EUR 99,979.3572
March 1, 2021 Xetra	Prof. Dr. Norbert Winkeljohann Supervisory Board	Share	DE000BAY0017	Purchase	EUR 51.5092	2,739	EUR 141,083.6988
March 1, 2021 Xetra	Prof. Dr. Wolfgang Plischke Supervisory Board	Share	DE000BAY0017	Purchase	EUR 51.5092	1,281	EUR 65,983.2852
March 1, 2021 Xetra	Johanna W. Faber Supervisory Board	Share	DE000BAY0017	Purchase	EUR 51.5092	640	EUR 32,965.888
March 1, 2021 Xetra	Dr. Thomas Elsner Supervisory Board	Share	DE000BAY0017	Purchase	EUR 51.5092	1,121	EUR 57,741.8132
March 1, 2021 Xetra	Dr. Paul Achleitner Supervisory Board	Share	DE000BAY0017	Purchase	EUR 51.5092	960	EUR 49,448.832
February 26, 2021 Xetra	Stefan Oelrich Board of Management joint account with Cristina Oelrich (wife)	Share	DE000BAY0017	Purchase	EUR 50.81	2,000	EUR 101,620.00

February 25, Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 51.02	47	EUR 2,397.94
February 25, Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 50.97	60	EUR 3,058.20
February 25, Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 50.99	192	EUR 9,790.08
February 25, Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 50.98	589	EUR 30,027.22
February 25, Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 51.01	1,222	EUR 62,334.22
February 25, Xetra	Werner Baumann Board of Management	Share	DE000BAY0017	Purchase	EUR 51.00	2,890	EUR 147,390.00